91 = 7 €001 = P X
€0-394'T —+ €0-4A¥S'¥ = WJoN
20-3LL2 —+ 10-390°2 = [A9Y] L
20-4dI11'6 —+ £0-400'1 = HN

FA R ({0 2 = xnig
10-dISY = @jed dads

A9/ AS1auy

001 oT0
_ Frrnr bl I I _ Frrnr 1Tl
N _ vl
oy
— - o
| 1 - (euad
B 1 ] o
— ] S
~ - <
— 4 ¢-0T X
0
5
B . N
| _ V2]
- - =
B _ ™
- N <
- — N
— + 3 »-01
T 1 Lir a1

8¥EVSG—-L919vcel SXY<

A3/ K3asuqg

001

1 90)

T

%
%

e

R
—_—
—_—
_—
—_—
_—t
%i

$

|

iv

=

A9¥ /ABasuy

001

010

+

Apqq,uured

€610

1¥92€6

s[enpisay

1-0T1

001

(A®Y s)/s3uno)



